o = =

1/2

R BR B R AR 2E BB

i - “
i R3 FRER 2 ek DIR G FHEFS B
Z2 K F 5 2021-10-015201
T #H % MK IE I A L EH (3 - FRAKBGSE) T
S
T %= %5 Fr
w T X X
LI [RH ~ o 44 2H25H
oA R
r 2 H % sk sk sk sk sk sk sk sk ok ok
T 2= 3l A=A
) YA Ik POETT)

i




2/2

]

BIWA AT (AIET SRS 15

RANET —=

# i & # 40, 497, 600 M
THE R X 440 36, 816, 000 8]
BB R D S L

RO R E B 3,681, 600 a1

#H




({A\ ‘EB 0
VLN :J:ﬁ rIEJ $|§ 2% E0-0001
FHAra— R 87
FH T4 BRE MK PE
A EA Vi 4]
A EE T 03-628703-41101-4-0
AL 0
HF¥a—F
FEL
A X 55 1 S Al
A 1 X 25 AT
HiftieE A B 0-03.10.01(0)
TR IR R N R - ARiE T
it R GRS
HIFA X 5y 01 Hi#A40%LA
— R R X Sy 01 #L7ewn
TFEX 5y 03 JAI - Hid=D
FHRIRAE X 5 01 AEErfRaE

i T M - T35 ATX )
K2 H THX Sy

99 MHIEZR L
03 43 8KRLLE

KB

03-628703-41101-4-0




SR #10-0002

@) (M) | HEBHESEE)  Aatesd) L] 4
36,816,000 BEMC % RHHE, eEGHETIEEM A ShEEA
36,816,000 ; (BAEIany) OROXFE, @kEEtETEREASLE A

KB 03-628703-41101-4-0




LALMTORE - BALIAS T120 DA OBE, BLFO LLTIIRRER Th Y . Bk - BN %0E T e < AR RIS 45

A T NIREREZER LTS,
H0-0003
# H - T M - ja I % e & B B Am(H) () 1 =
ATHE X1000
1 JBILA AT Y1900
1 = 18,061,860 18,061,000 #0001 5NN E
1 A% R T Y1900
1 = 115,500 115,000 #0002 5 PN AR E
1 RER TIED Y1900
. 1 = 1,299,323 1,299,000 50003 5N E
[ERCER: = &t
19,475,000
M@k (34y) 19475000%(0.1148*1.0)*1.04
KGR e 19,475,000
% ............... 0_1148
2,325,000
1 EWRE (L) Z0001
728,000
6 G FEFE A B w0001
FEHIAR A A
71.4 t 750 53,550
6 EE R E ) W0002
71.4 4,350 310,590

t
N 03-628703-41101-4-0




LAVATORR: - ALY T1X) LIS DGE . B RO LA TIIRAEER TH Y |

B - BALINT AR E IR < BRI

A T NIREREZER LTS,
0-0004
# B - T B - m L % ¥ B B B Am(H) () i =
6 A (AR w0003
71.4 t 4,350 310,590
6 IR A S B U2 W0004
FEHEE L
71.4 t 750 53,550
1 g FELD) 20002
50,000
6 MR B S4000 0
1f&
569 m 2 32 18,208 %50-0056 51 Affi £
6 F =V — kB S4002 0
$EFE-500mm
300 m 2 106 31,800 %50-0058 5l %
1 HivEesE (L) Z0005
7,000
6 VA= N E - w0001
1 FRAR 7,100 7,100
Im R Bt
3,110,000
Wi T H R
22,585,000

KB

03-628703-41101-4-0




LALMTORE - BALIAS T120 DA OBE, BLFO LLTIIRRER Th Y . Bk - BN %0E T e < AR RIS 45

N W E R R LT 5,
H0-0005
# H - T M - i L 4 Fp B & Bz LR TGED) () i =
B E 22585000*(0.3554*1.0)*1.06
U3 ELERERERE 22,585,000
% ............... 0_ 3554
) 8,507,000
Vi,
31,092,000
— iR 31092000*(0.1837*1.00+0.0004)
U3 ELERERERE 31,092,000 AL IE£2 %L 1.0000
% ............... 0_ 1837
4 W)Ll 31,092,000 5,724,000
1 ¥EBTREE (R 7 v 7 EE25T) 20041
0
A
36,816,000
TH 2 Bl 5 FH 24 51 36816000*0.10
U3 ELERERERE 36,816,000
% ............... 0_ 1000
3,681,600
A TR
. 40,497,600
Tk FH
) 36,816,000
THE B SR S AR
3,681,600

N 03-628703-41101-4-0




KT =H

WIREEAZ R R L TN D,

LALAT ORR - BALIAY T1:0 DA D56

F0-0006

% H

T

il

it

T 4 ®

%

A

il
18

B ()

A BH)

£

an A LR

40,497,600

KB

03-628703-41101-4-0




Y1900 1B 2 AT
#0001 5 NaR &
i Sl 18,061, 86C [ E0-0007
T M - i L % o = B {7 LN TG & B fii =
ERZHE]] S4NO01 0
L OHRE] HIFRA 2HE T M EEE
Ny 7 AR 1LAE0.28m3 HEA A3k
421 m 3 658 277,018 %50-0001 51X AM #
TSR L V0005 0
IM=W1<<4m
Ny 7 7R 1LAE0.28m3 HEA A2k
104 m 3 2,066 214,864 %50-0003 X AHi %
JEE D By L S4NO1 0
N— 2 HIRA EEL BE L EEE
N 7 7R 7 1LFH0,28m3 HEA A3
159 m 3 608 96,672 %#50-0008 =\ Al
T PR I R S4508 0
REvE L - MY+
88.3 m 2 558 49,271 %50-0009 Z X AHi %
SR AR w0001
27.88 t 363,000 10,120,440
FHBIFE T $HANT V0007 0
Ny 7Ry (7 L— U HERERT) 1LF50.28m3
PEH A Sk gAY
24.41 t 53,038 1,294,657 %50-0010 51 Afi £
ST G S4N09 0
R 7 AR LS. 28m3 HEA A1k
281.7 m 3 9,273 2,612,204 50-0012 5 A 2
FREEAA L B LR AA B I V0010 0
323.6 m 2 399 129,116 50-0014 5 A 2
W HA B A R T V0011 0
224.0 m 2 569 127,456 250-0015 51\ Al 5

KB

03-628703-41101-4-0




F0-0008

T M - i L % o = B {7 LA TG & B fii =
R R (BAY) T4017 0
400X550X12mm
1 & 48,000 48,000
BRRER LR R 35 Rl w0001
1 & 70,000 70,000
TP HEHE] (RIRS - R0l - 3 EEE) S4NO01 0
L OHRE] HIFRA 2HE T M EEE
Ny 7 7R 1LAE0.28m3 HEA A3k
74 m 3 658 48,692 #50-0016 = fhZ
TR L (GG - A=l - FEERE) V0005 0
IM=W1<4m
N 7 7R 7 1LFH0.28m3 HE A 21Kk
20 m 3 2,066 41,320 #50-0017 2 Z
BT (RS - A Mluh - mEERE) V0005 0
IM=W1<4m
Ny 7 7R 1LAE0.28m3 HEA A2k
48 m 3 2,066 99,168 #50-0018 2 A Z
g w0001
500 X 800
81 m 5,850 473,850
St A% w0001
500 X 800
18 e 1,700 30,600
NI (MRS - A lah - FEERE) V0012 0
iE80cm Ffifa (D> ZEH - W HIBG IEAF I3 RIR)
Ny 7 7R 1LAE0.28m3 HEA A1k
76.7 m 5,139 394,161 #50-0019 2R A2
ST T (WeHERIR) V0013 0
f®120cm &5
R 7 AR [LFEO . 28m38% BEH A et
36 9,893 356,148 50-0020 2 A Z

m
KB

03-628703-41101-4-0




F0-0009

T M - i L % o = B {7 LA TGED) & B fii =
W HBG IR T (55 - A - TEEEE) V0011 0
56.3 m 2 569 32,034 #0-0021 B A 5=
FEE Ve Gl V0014 0
3.3 m 3 4,408 14,546 750-0022 5 A 2
EETL ASETIC X AHEAT SF316 0
WA — ML ERMSE (EAES)
100.2 m 2 821 82,264 750-0024 5 A 2
A=+ 5 FEL T V1100 0
1.8 m 2 14,350 25,830 550-0025 5 A £
A TEIA S4N04 0
Ny 7R b— U BRERT) 1LFE0.28m3
2t TN Ty T ~FHIA R
28.94 t 2,340 67,719 %50-0026 5 A £
H T NT 7 E R V0016 0
267 7 N T U SERRIEEEO.Skm 5 =4.8
Ny 7R (7 b— U BEREAD) 1FE0. 28m3
28.94 t 637 18,434 %50-0028 5\ A £
A TEIA S4N04 0
Ny 7R (7 L— kR [LF50.28m3
7 INRIASHE S A~ A A
28.94 t 2,340 67,719 %50-0030 X AHi R
7 INTRUAS S i e iy B S4073 0
i
TEMREREE 30m
28.94 t 764 22,110 %50-0031 51 AM #
FIFEATEIA P S4N01 0
Ry 7 AR T LAE0.28m3 HEA A3k
287 TN Ty T ~FHIA R
358.6 m 3 753 270,025 %50-0033 XA

KB

03-628703-41101-4-0




H0-0010

T M - i L % - B {7 LA TG & B fii =
6 X7 N7 v U iEMR S4075 0
HoTNT T2 tH
Ny 7Ry 7 ua—JR11F50.28m3 21k
358.6 m 3 1,127 404,142 %50-0034 51X AM #%
6 EFIZEAFEIAI S4NO01 0
R 7 AR T LAE0.28m3 HEA A3k
7 INRIASHE SR A~ A A
358.6 m 3 753 270,025 %50-0035 X AHi %
6 /IR e i L S4073 0
FlEa
TEMREREE 30m
358.6 m 3 846 303,375 %50-0036 =X AHi R
k sk FAAZ X4 1) sk sk
1 = 18,061,860

N 03-628703-41101-4-0




Y1900 HAKIHE T

#0002 5 PNaR &
= Y 115,50C [ E0-0011
T M - i L % o = B {7 LA TG & B fii =
6 {RALLEL V0037 0
s
1,0004/ha
0.22 ha 189,000 41,580 %50-0037 51X AM #
6 {RAMLEL V0038 0
A
1,0004/ha
0.22 ha 128,000 28,160 %50-0039 X AHi %
6 {RALLEL V0039 0
5|
1,0004</ha
0.22 ha 106,000 23,320 #0-0041 51 5=
6 {RAMEL V0040 0
KRS
1,0004/ha
0.22 ha 102,000 22,440 550-0043 5 Afi £
k sk FAAZ X4 1) sk sk
1 FaV 115,500

N 03-628703-41101-4-0




Y1900 I TAED

#0003 5 Nk &
= = 1,299,322 1 0-0012
] T f - i L % W 2 & B B Am(H) () fi =
2 fREx L Y2900
‘ 1 = 417,940 417,940 00045 AR E
2 BRI T Y2900
1 = 881,383 881,383 %0005 5 NARE
kk BN D sk ok
1 = 1,299,323

N 03-628703-41101-4-0




Y2900 g 1.
#0004 5 R &
= 1) 417 ,94C [ 0-0013
T f - i L %4 W ¥ B B B Am(H) () fi =
Ko 7EiE ONAR) S4425 0
VESERFHEK
PEAKEOLIE6 R (m3,/h) %
16 H 5,648 90,368 #50-0045 51 5%
A7 - E Oha) S4426 0
ARO7OF 50mm
1 o 17,440 17,440 H0-0047 5 EE
+o 5 KT S4420 0
1 m 2 12,242 12,242 #0-0048 51 5%
BERERRIE « kT V0020 0
EEOME300mm < o 7 LV
fE AR © 3 7 i
40.0 m 1,919 76,760 #0-0049 51 A 5%
RIS HE B RA227 0
18 #A 12,285 221,130
kk B D sk ok
1 = 417,940

KB

03-628703-41101-4-0




Y2900 EUZE N

#0005 5 PNER &
= Sl 881,382 [ £0-0014
T M - i L % o = B {7 LA TG & B fii =
6 BB E S4N06 0
SE-450. 2m3BH
413.4 m 2 426 176,108 %50-0050 X AHi %
6 BERHE S4N06 0
SA50. 2m3BH
413.4 m 2 404 167,013 %50-0051 51X AM #
6 SR SB765 0
ik 22X1524%Xx3048
ftHBE%120H
89 K 4,560 405,840 %50-0052 51X AMi #
6 ZEMNET. (Ny 7 KTIRE V0036 0
EEWEEE (1 mBLTF)
40kg/m2
83.6 m 2 1,584 132,422 #50-0053 2 A
k sk FAAZ X4 1) sk sk
1 = 881,383

N 03-628703-41101-4-0




